1. What is the main topic of the lecture?
A. The reasons why the low-cost carrier model has failed. 
B. How a company can save money by eliminating services. 
C. The ways that low-cost carriers can improve. 
D. What a low-cost carrier is and how it works.
2. What aspect of the business model does the professor mainly discuss? 
A. The ways the company can attract more customers  
B. The disadvantages of operating a low-cost carrier 
C. How a low-cost carrier keeps costs low 
D. Why low-cost carriers lose so much money
3. According to the professor, what content will be on the test? 
A. Information about a certain airline business model 
B. The common business models for airlines 
C. Ways to improve airline business models 
D. The cost of opening and maintaining a low-cost carrier 
4. By definition, how are low-cost carriers able to provide low fares? 
A. They do not have to pay for fuel. 
B. They get rid of extra services.  
C. They operate a limited number of planes. 
D. They get rebates from the government.
5. What are some of the stated benefits of using only one kind of aircraft? 
A. Ease of maintenance
B. Less fuel is used by the airline 
C. Better service 
D. Discounts on aircraft
6. What is an advantage of using secondary airports? 
A. They are busier than major airports.  
B. They are open at convenient times.  
C. There are fewer regulations. 
D. There are reduced landing fees. 
7. What is fuel hedging? 
A. The practice of buying fuel before it is necessary
B. The state of changing fuel prices 
C. Buying aircraft fuel in bulk. 
D. Buying fuel cheaply and selling it for a higher price.  
Today, everyone, we will be continuing our talk about low-cost carriers. As you know, this type of company is quite recent, having grabbed a large market share from older, so-called ‘legacy carriers.’ The basic idea, of course, is that the airline cuts out all extra services: no in-flight meals, limited beverage service, and fees for extra luggage. The positive side is that this allows them to offer much cheaper fares to passengers. 
There are other ways in which carriers cut costs. One is by using only one kind of airplane (or more correctly, jet). This reduces training costs and makes maintenance and servicing more routine and therefore less expensive. In addition, buying just a single kind of airplane might help the company negotiate a discount with the manufacturer. 
A related issue is that low-cost carriers often use secondary airports (rather like Ibaraki Airport). Such secondary airports are less crowded and much less prone to having delays than large airports. Of course, the landing fees can be and often are cheaper at secondary airports. Did you know how high landing fees are at Kansai Airport? To land just one 747 requires 580,000yen! However, at Ibaraki Airport a similar airplane costs about 250,000yen—substantially cheaper. 
Low-cost carriers also face the challenge of fuel costs. Working on a smaller profit margin, changes in the price of oil can have a large effect on profits. However, low-cost carriers incorporate fuel-hedging programs in which they buy fuel in advance so they won’t be affected by prices changes in the future.   
